Y8y aymany

Ay mwy remy

Be J0ST SCTIVE BRCLALS EIT Ran “re ey
j) BEOA) @) 17(VIIA)
hmﬁhwﬂ,uﬂeMﬂhkwhﬂthp

D 1) @) 2@A) @) 13(00IA) (4) 17(VIIA) '
ficat §s the fotal nﬁﬁ‘dmm'ﬂh&MMdu
kaline earth clestent In the gromsd steze? (1) 1 @) 2 @) 3 (0 4
3&emnthnp2(ﬂA) gre comsidered from top to botlom
a2 -tke Perlodic Tabie, the pupber of electroes Ia the 20 subsbell

i} decremses (Z) [acreases {3) remalas the same ‘

Fhich contahis atoms that fore +1 lens kaving an leer gas
L o () (LY () HEB) Q) 1(VIAY  (4) T(VIIE)
Taich of the Greup 16(VIA) el<ments lis'ed below has the greatest
ciear ciaarge? (1) ¥ (2) Ci (3) Br (41

Vhich element is meost likely to form a compoucd wit

eyploat (3 Aworine (2} chlorhe ) bromize  (4) fodine
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A neutril oxygen atem (Q) differs from un loa of cxygen (0%} ix that
the atoni has (1) more electrons (2) fewer slectrons (3) more
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Magnesium has a smaller stomic radius than sodiam because the
magnesium stom as more (7} vakarce slecirons (2) energy levels
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(3) metaliold  (4) noble gas _
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3. The elements known as the alkali metals areTound in Group
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3. What Is the total number of electrons found in the valence shell of an
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9. Which represents the correct order of activity for the Group
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(1) bromine > iodine > fluorine > chlorine
(2) fidcrine > chlurize > bromine > jodine
(3) lodine > bromine > chiorine > fiuorine N
"(4) fuorine > bromine > chlorine > lodine

10. If the elements are considered from top to botte:: in Group.

16(VIA), the number of electrons in the outerm:: siell will
(1) decrease (2) Increase (3) remain the same
group contains an element that is a Yix::dd at room

(1) hydrogen. (2) nitrogen (3) argon (4) chlorine

13. All elements whose atoms in the ground state have a total of 5
electrons in their outermost p.sublevel are called (1) noble gases

(2) metalloids. (3) halogens (4) alkaline earth metals
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25. Which element in Perfod 3 has beth metaliic and monmetsilic

propirtles? (1) Na () Mg (3) Sl (4 Ar

(3) shiicon (4) suifur

24. Which is an exsmuple of @ metallold?

they all have the same number

3. Elements in Period 3 are alike In that they a
(3) electrons in the valence shell

ipal energy levels-

of (1) protons (2) neutrons
(4) occupied princ
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